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Alcohol Testing Program U .
Dateln 7/ 2%/ Date Out ét( 1] 17 Qship Qp/U QOH/ Qcmi Qee
Z il
Intake Performed B\( P Quality Checks  Performed By g?z Flow Calibration Performed By
= Registration - & LlabTempoc Q1.9 B Flow Calibration N/@
A1 Annual & Breath Tube Screen O Flow Calibration Comr&\
O Return from CMI a Replace External O-Rings Flow Column # 6}
Q  Return from Enforcement @ Instrument Set Up Verified O 5L/min- 17m§% z’:z’**
Electronics @ R-value 9% Q 15 —53mm V4 O
Q other i Flow Verification (L/s) 0 30L/min ngfmm, <;ﬂ/ .
Visual Inspection: Flow Column #_ /¢ 02 O R-Value B
O Case %Hamﬁe 32mm _i{yl (.139-.169) | O Post Calibration Venﬁc’at:on (L/s)
Dl Dry Gas Holder _OKFeet 36mm _|7S  (.156-.190) Flow Column # %o,
_C%Keyboard/Plug % ack/Plugs 53mm_ 944 (.228-.278) 32mm (139 .169)
_gikrscrews tight C__ Breath Hose 103mm _5¢ % (447 < 547) 36mm (.156 190)
B Barometric Pressure Check 53mm (.228 - .278)
Other Equipment: Gauge ID #_c2547\ 103mm (.447 - 547)
O ‘Biwcrcord & Sstability Checks Maintenance  Performed By
O  Printer Cable Simulator | Serial # Lot #/Exp O Battery Replacement
4 Other O\z\;‘] & (Ezlgf 0.05 > PLHWEY U Dry Gas Regulator Replacement
(\:1‘-/'75 S PAL] Q Breath Tube Replacement
0.08 i 20,118 O Other
Notes: (J‘i 144 s ]s Quality Checks Cont. Performed By @
0.20 —— 01742 8 Simulator Temperatures °C
(e 2123149 External Digital Therm. ID#: _200501/3uw50)5
0.08 DGS N/A AslelGlos & 34°C+-2 Serial#: (};36_73%5_!)5?&2
e [18 @ 34°C+-2 Serial#: %M/ o0
o 0 34°C +-.2 Serial#: [,u!ell; ot
Calibration Adjustment Performed B@’ Department Inspection Performed By
O Calibration Adjustment N/A B Barometric Pressure [¢i3 Gauge
B/ Calibration Adjustment Complete ID# _ DB | /043 Instrument
Barometric Pressure Gauge _(¢/35  ID# Jt97
Simulator Serial Number | Lot Number | Expiration Mouth Alcohol Solution Lot # 2oik-A
0.000 (,'_w o N/A N/A Acetone Stock Solution Lot # DU T/
0.040 Sdiosg Je 320 10/2 1) 1% Simulator ?}erﬁalﬂNumber
0.100 SDpi2 [ 70k0 ] /, ‘-f/,? 0.00 o Wﬁ( obtew
— Interferent @ |GF1T svigy
0.200 5 (o) / I 7696 2 )i f1g 0.05 263 st
0399 LS e 121 s 0.08 @49 sooiz
| 0.080DGS | N/A 245|s080A2 | 10/s )14 0.20 BlGULH Y2433
W Post Calibration Adjustment Stability Checks =
Simulator Serial Number | Lot Number | Expiration Attachments
0.05 SO39,1 2007070 “?/2*? }151 & Form 41 & calibration Adjustment
0.08 SDig 3  —— 1lesfi & Pre-Stability Tests & Post-Stability Tests
0.20 5D 3m 373 RDeTC 7’).\(5 9 Q  Flow Calibration & Other Forwm Yo
[ 0.08DGS | N/A AAinbes | (s
Notes/Suggested Service: T R’ Instrument Complies with Chapter 11D-8, FAC
LSy Dot Auwsiek an ynfhvumans olorioy U Instrument Does Not Comply with Chapter 11D-8, FAC
Sht, Lwies. loese Pl A - q’ Return to/Place into Evidentiary Use
Inadveisently  Stetedd fm{ucﬁcn (nsheacd ot Sl /_&r4 U Remain Out of Evidentiary Use
duid abocth ot b e o oy AL Sler q Conduct an Agency Inspection Before Evidentiary Use
HoF Bidten Pevin AL nbvnnd g 40 A -
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